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Language — Part IV — TELUGU

Time Allowed : 3.00 Hours | [ Maximum Marks : 100

BSOS : (1) (BHIBE Swo(Sesn SO 6T o Irddn. Hn@ns® HBJ 88
GRHPEH JoI b KO ITEHIS BDAEABNH.

2) TPOTIERE S090TL @OEESB R DAL AL BT FeNY St VTP STEB
GDHA3TA0T0E.

goif&o - [/ PART - I
(15 SEnen) / (15 Marks)
&8 Bod T8 $BY dSreraren doHstod. 15x1=15

Choose the correct answer.

1. “R0” 3 DHBHI0IH @géaa
() 550 () & (8) s

2. “t%éé“)éo” o DB K)U‘goﬁaoﬁmw
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geiisd = I/ PART - II
(18 SrSxew) / (18 Marks)
Negrifsd® = 1/ SECTION -1
& (808 8 AR Tenid (HHoH 235°20050). 4x2=8

Answer any four questions from the following.

B8y Boo FPEBSDHDS ?

BDHH 16 a;o“)@e» D ?

SB0S® 25 B HORB Ao BOBR ED SHoTdd ?

D X ESE® Dekird der SR ?

‘THFE DD © D TPETRI8 5B ?

PSP T A M oI ? EPLSoe WG BeoHod.

QeriEn - 2/ SECTION - 2
& (80d T DAY 2 (HHeDH wTeadLN), 5x2=10

Answer any five questions from the following.

BHBBEI08 BBt (FCHoED.
€ oX

Oorisoen A ? & D ?

JEFEmen oIra ? ©d D ?

DTV ) ? © D ?
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26. (DPXr SENBA S0 OITID ? GTSR =W
27. &FHIERESE0e0 ) ? 9D D ?
28. &80 $H80D (TAHod.

g3 = I/ PART - III
(18 SBew) / (18 Marks)
Derifdn - 1/ SECTION - 1
DIV B (BHoH 2350200500, 2x3=6

Answer any two questions from the following.

29. ePHHS RSP D, oD FEHoLrdd ?
30. &rog HJBo Il (HABrered DHBoBo’.
31. S08R8HE eteeHnlerdd Ko 5800 A ?

Ngeiiso - 2 / SECTION - 2
DIV B (BHoH arendsn). 348 (BY) EHE TrahIBT. 2x3=6
Answer any two questions. Q.No. 34 is compulsory.

32. Homeend HBod (FPaHol.

33. “Ghen EPeny)” 50 ROHEDL S0 B 5B ? 0D odwdd, 988 B5508
S0Hw.

34. (®) Bodw ! ... 2.8) Erer3dS @ 5500 FoSes0KEn SHome (TPedm.
ol
(8) ° 30 OB vvnennn.. So0oHS @ S0 FSgiorsn BHom (FesnE.



35.

36.

37.

38.

39.

40.

Negriisds = 3/ SECTION - 3
DIV Bod (HHOD eTrareRd (TPC0E.

Answer any two questions.

©8ITrE OOEHND 1) VBB,
6O OFETodD Krd) (TPainn.
é?_.’aogb e‘ééé)o)éaa’l D50 80D (GPADHo.

g0 = IV / PART - IV
(25 SE5en) / (25 Marks)
O DHODH 225200,
Answer all the questions.
() 83 Zéw?ge;f_% 3°€5?Seg°ﬁ T (P00,
G~
() BodBHD @%?Se;w‘ﬁ FT0BY) (FTPC50s.

() Do ddozrdo Jod @cﬁavwzééwég) ?
5l
(@) D (Pt 267 88 peaed) TPahod.

BenrHSI8 i BB0HE.

5001

2x3=6

5x5=25

Agriculture is the backbone of our country and so it has to be developed

intensively. Since land cannot be expanded, the available land has to be put to maximum

use. We have to grow two crops now. Where we were growing only one. Modern

methods of cultivation should be adopted. Pest control cannot be forgotten. Marketing

helps the development of agriculture.
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41. (B0 KEEEnD SOD (HHODH SrErdsnen (F°anm.
B0rred SrEdDd 1940 JRS-15 By VoS (PDT) 38 Beps® “aird” (rod®

‘B8’ 03 & WHTR Hewowos® oB. Horrd DX T8 e’ eldyed SWHHI
oII0 Teer SN ©oNID)BE B8 IMWES Dex B B0’ LB SHHBHTND.
1959 &° &8 BT DG I8 B,
(Do :
(1) Sorrd Srerdd Y Qo3 ?
(2) Sorrd SErdd ASVoDS ((Pro 2O ?

(3) Hored LrErdd & Hewonod® o ?

4) D Dy B3 WSHro&® EOR SEHK0 (FPEodoerdd ?

(5) &QE FETe EFH O SoIB)BoE® P8 BFG ?

42. (o) BSrdo (53%3@50 DYHAIR BerHse08 S (55°05005500.
ol
(&) D TS SRS K8y Sol&8 Be (TPS0H.

ootfSn - V/PART - V
(24 SEnen) / (24 Marks)

Bob (oD esarendiy. 3x8=24
Answer the following questions.

43. (®) “BBH Kois arss” &égwﬁ FPT0TR)) T°CHok.
5ol
(8) Beord edHS NOre FT20F°R) T°CHoE.

44. (v) B &)%éapvﬁ FTOTR)) T°0D0&.
5 ond
() 3D 3°6§ap°?§ FPT0TR)) ToIHOE.

45. (®) ‘©ICHD KO ©H WoIoD afg&PéO& (FP03050.
5 ond
(e3) “éé{.@ HB HEBe” TR 8 a‘g‘cﬁéaazéa (E°cSw.
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